Tesla transverse and longitudinal waves: video

posted 2006
http://video.google.com/videoplay?docid=-721789270445596549#
Please see http://www.borderlands.com for the biggest collection of old, rare and hard to find groundbreaking alternative energy and medical material. Tesla transverse and longitudinal electric waves another a lab demonstration with Eric Dollard, Tom Brown and Peter Lindemann. Specially focusing on Tesla's longitudinal electricity. This is a great practical demonstration on forgotten Tesla longitudinal electricity technologies.

Notes on video:

Current “science tells us longitudinal electric waveforms do not exist. This video is to show that they do.

Notes longitudinal force wave travels much faster than transverse force wave in a stiff flexible medium.

Is it the same for electricity?

Notes both transverse and longitudinal waves are found when a stone is thrown into the water:

Concentric circles = transverse/up-down water motion (into and out of paper); radial lines on paper represent a longitudinal water motion

Says see the same thing for EM radiation thru a wire

This is not an accurate analogy. Electromagnetic  waves consist of an electric and magnetic field, which are mutually perpendicular, and which are perpendicular to the direction of propagation of the electromagnetic wave. This makes the electromagnetic waves transverse by definition. The “longitudinal” component would be in the direction of current flow; ie the EM is transverse and in the plane of the page,

 The longitudinal would be perpendicular to the page or into and out of the page.
In a water wave, the direction of energy flow is into the surface of the pond. The undulating circular waves would have an amplitude in the direction of energy flow (pebble thrown vertically into the water) ie this is “longitudinal”  Transverse would be in the radial direction.
Transverse conduction of electrical energy;

When have 2 wires, can have electrical energy conveyed longitudinally from primary to secondary conductor as in the case of a transformer. The lines between the primary and secondary conductor are called the magnetic and dielectric fields of induction

Transverse waves are “EM”; “new waves”: longitudinal waves are called longitudinal magneto dielectric waves.

Steinmetz book on the subject: electric discharge waves and impulses published 1914

Google Steinmetz electric discharge waves and impulses 

http://www.allaboutcircuits.com/vol_2/chpt_14/6.html 

http://physics.info/waves-standing/
Test of transverse wave characteristics (transverse electromagnetic  wave of electric induction)
Radio frequency generator attached to step down transformer (toroidal coil inductance) attached to length of coax cable connected to hi impedance voltmeter to measure the rise in electric potential due to resonance at the distant end of the cable. The signal from rf generator travels thru coax (time delay) to high impedance (open circuit) voltmeter & is turned upside down and  reflected back to transmitter and again be delayed and returned to the oscillator. When the frequency of the oscillator is such that it matches the propagation delay produced by the propagation down the cable, when the inverted signal comes back to the oscillator the ocsilator  will have gone thru one half cycle, and will thus form an inverted cycle. The arriving and leaving signals from oscillator add and travel again down the coax.
This process continues, each time the signal doubles until voltage rises to the point where the losses in the system prevent any further rise. (8 min 40 sec)

Sweep the frequency of rf oscillator till voltage is max (resonance) to find propagation velocity. Find max and min points. Go thru half voltage points, find band widthe of a few hundred kilocycles. Peaks out at 2220 kcs.
Calculation:coax: tem/tdm coax  rg62  transmission impedance 93 ohms  length 2750 cm  
so wavelength of cable is 11000 cm since is quarter wave resonance and have to multiply length by factor of 4. 
Based of velocity of light frequency of quarter wave resonance for a propagating velocity equal to velocity of light

Frequency should come out as 2727 kc/sec

F= velocity of light in cm/sec /wavelength in cm = 29 979 245 800 / 11000 /cm = 2725386/sec = 2725/k/sec
Isn’t this in radians/sec rather than cyc/sec?

Freq we measured was 2220

If take ration of these two velocities, find propagating velocity is 81% the speed of light.
Wave length/4

Next do same test for longitudinal wave 

11 min 19 sec

http://jnaudin.free.fr/html/lmdtem.htm
shows the analog modules to simulate a Tesla coil (longitudinal transmission) ; same thing that is seen in video
changing orientation of the modules allows simulation of transverse transmission 

http://www.rainengineering.com/ether/Light&Electricity/light_and_electricity.html
covers the same material
Book on sale at amazon for $8

Quarter wave resonance: open circuits
Sharpness of resonant peak: q factor

Longitudinal magneto dielectric 

Spiraling waves around coil: the waves spill out and skip some of the coil windings, which allows the speed of the waves to exceed the speed of light. 

This is very good; think about downloading

“Analog” of tesla coil

Should be able to simulate the analog via circuit maker software

